K2047_D

&3 EE 38 s Al
&, D
=3 dY/HIE o[o] x|

© HEINRICH KIPP WERK GmbH & Co. KG

°
El = ol N i
o|A AE ZQIAE! o3l &F0] 3
Mo
=
HE Y. o
CIHIA ZEHXNE SH o2 9I5| & 3F Ax|7t H5t= 1 W KRI5HOF
st= 2ol AHSELIC B BEE 2502 Bojotpt L2 &2 Sl
2 0|8sE = &Lt
HAIZHo| AR HZ Elg E0{0F 5t EZ Elo| Bt5 S Wx|dHok 3=

ZeolE el ¢ £k Bl

THE:
2B HT:
LIAt &21E, A
&2 El1.4305.
AE|QIZ|A AEH
x

LIAF 22 O &

-
2

= Tl 1.4305.
OBl BHE, PWI7tAHM +X|
#M ojF2|
AR HA
23 E, F3tElX| kS
LIAL &2|E, ZEM gt x{2|
SE= i1 =]
AH|QIEA AR HH
a3 XMel=l X i #@F E
LB RE 2
g
HE A XYGE 2 =Y ESE
AL
QY ACIE AERIL 7t
=M MY:
Bl A &2 &R 338, 23 HE
ElQB: &3 &% g, &3 HE
Bl C: &3 &R /UE, H3F HE
Et D: &3 &R Ug, H3a HE

DE At&siof FfLct,

30 59 30 20

S

www.kipp.com - info@kipp.com

1/3



K2047

D

°
X1 =  CCX= AFI|O A AEl =EZaLAE o = L
o= SEE & t= AH|Cl2|A AE ECIAE! ofdEl &FH0] X
gt DY
=M
© g
ol [
1 :
|
3 |
~J
‘ SWi1
~ -
- : , Sw2
[
| [ | ||
b
] I I j
] | W
' |
AL -
|
D g
| D1 |
Z5 209
FEHS Ef 2 & THE MA D DI A B L L1L2L3 AE SWISW2 Fx A[E EMd =T
2 23 30° EBtY JBER E3
S F1 F2 max. Nm
ok N 9N
K2047.0404080 D AE AS[MRAL7021 4 M8 205,34451523,813 4 8 13 1 6 12 2
K2047.0415100 D AE AS|M RAL7021 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
K2047.0426120 D AE HASIMRAL7021 6 M12 30 8 61,720 34 17 6 12 19 1.8 8 15 15
K2047.0438160 D A AS|M RAL7021 8 M16 4010,7 81 2645323 8 16 24 23 8 19 20
K2047.0404081 D AE AS|M RAL7021 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
K2047.0415101 D AE] ZS|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 13 6 12 7
K2047.0426121 D AE A3|M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
K2047.0438161 D AE A3|M RAL 7021 8M16x1,54010,7 81 2645323 8 16 24 23 8 19 20
K2047.040408084 D AE NER=R 4 M8 205,34451523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.041510084 D AE A5 W 5 M10 256,752,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.042612084 D AE A E W 6 M12 30 8 61,720 34 17 6 12 19 1.8 8 15 15
ZH RAL 3020
K2047.043816084 D AEl WNEASE ) 8 M16 4010,7 81 2645,323 8 16 24 23 8 19 20
ZH RAL 3020
K2047.040408184 D A SRy 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
Z RAL 3020
K2047.041510184 D AE (e E wr 5 M10x1 25 6,7 52,21728,515 5 10 17 1,3 6 12 7
Z RAL 3020
K2047.042612184 D AE (e 5w 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
ZH RAL 3020
K2047.043816184 D AE A5 W 8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
Z RAL 3020
K2047.1404080 D fEiIO._I AS|MRAL7021 4 M8 205,34451523,813 4 8 13 1 6 12 2
A AE]
K2047.1415100 D |¢E+|°._I | AS|M RAL7021 5 M10 256,7 52,21728,515 5 10 17 1,3 6 12 7
A AE]
K2047.1426120 D |¢E+|°._II HAS|M RAL7021 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE]
K2047.1438160 D |¢E+|°._II AS|M RAL7021 8 M16 4010,7 81 2645323 8 16 24 23 8 19 20
A AE]
K2047.1404081 D fEiIO._I | AS|M RAL 7021 4 M8x1 205,34451523,813 4 8 13 1 6 12 2
A AE]
K2047.1415101 D AE|Ql ZAS|M RAL 7021 5 M10x1 25 6,7 52,21728,515 5 10 17 13 6 12 7
A AE]
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
X1 =  EC= AFE]IO A AEl =EZaLAE ol i Iir
A2 EE A3 E= AH|QIE|A AE E0|AE o2 &F0] =
g, D&
E52%
FEHS Ef 2 xHE LA A AL D DI A B L L1L2L3 AE SWISW2 Fx AlE Ed =g
2 23 30° EY B2 E3
S F1 F2 max. Nm
o N 29N
K2047.1426121 D AEQ] HE[M RAL 7021 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE]
K2047.1438161 D falo'_lg 43| RAL 7021  8M16x1,54010,7 81 2645,323 8 16 24 23 8 19 20
A AE
K2047.140408084 D AEQl MEE W 4 M8 205,34451523,813 4 8 13 1 6 12 2
A AE] ZH RAL 3020
K2047.141510084 D AEQl pME 5w 5 M10 256,752,21728515 5 10 17 1,3 6 12 7
A AE] ZH RAL 3020
K2047.142612084 D Nz pMEE W 6 M12 30 8 61,720 34 17 6 12 19 1,8 8 15 15
A AEl ZH RAL 3020
K2047.143816084 D 2B pMEE W 8 M16 40107 81 2645323 8 16 24 2,3 8 19 20
A AE] ZH RAL 3020
K2047.140408184 D PN (MBS w 4 M8x1 205,344,51523,813 4 8 13 1 6 12 2
A AE] ZH RAL 3020
K2047.141510184 D AE|Ql (5w 5 M10x1 25 6,7 52,21728,515 5 10 17 13 6 12 7
A AE] ZH RAL 3020
K2047.142612184 D AE|Ql WNE-ASE ) 6M12x1,530 8 61,720 34 17 6 12 19 1,8 8 15 15
A AE] ZH RAL 3020
K2047.143816184 D AEQl pME S W 8M16x1,54010,7 81 2645323 8 16 24 2,3 8 19 20
A AE] ZH RAL 3020

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



